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Hor zantal Asymprks
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Z.) If the degree of the numerator is ‘C(K) ’(‘

greater than the denominator,
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then there is no HA.

3\ If the degree of the numerator 3/ e \
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and denominator are equal, 9 o 'P‘K) = 3X
then a HA exists at Uxt+)

y= Leading coefficient(N)/

Leading coefficient(D) f(x) = 5x*6/(7X"6 - 4x"2)
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A small business spends $5000 in start up costs on a new products. In addition, every new
product costs $0.50 to make. Find the average cost of producing 10 units, 100 units, 1000
units, and infinity units. What happens to the average price as | produce more units?

Cost - 0-0w e 500 B

Avesage Cost = O.Sx+S000 | o c 4 oo 16 [*500.56
L/ X X \O0o *56.50

lm 0.5 +s000 1000 _|3s.50
X203 — = 0.5+5000 10,000 | ¥ 1.oo

X X 100,000 $0.5S

\,000,000 $0.50S

00 [¥0.S0




Section 3.6 February 05, 2015
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